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0�����  � ���� ,�	
 �����������/ ����
�����
 ��� ����
������ ���
����
�� ,������/
��
� {(Xi,Yi)}n

i=1 ∈ R
d×R

�  ����

Yi = m (Xi) + ui i = 1, 2, . . . , n,
,-/

 �
� m : R
d → R

�� ��%�	 � ����
�	� 	� ��
����
�m(x) = E(Y | X = x)� ��� ui������ ����	� ���	��  �
� E[ui] = 0
��� ���
� "������� σ2(xi)
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Q��������&�
�	� ��
���
	� �� ������ ��

m̂k(x) =

n∑

i=1

vk(x,Xi)Yi,
 �
� vk(x,Xi) =

(
f̂k(Xi)

)−1

Kk(x−Xi)
,3/

 ���� f̂k(Xi) = 1
n

∑n
i=1 Kk(Xj −Xi)

�� � %����� �����
� ��
���
	�  �
� � ���
��

����
�"� %������ ���� �	�w = (w1, . . . , wd) ∈ IRd  � 
���% 	�

Kk(w) =
∏d

α=1Kk (wα)�
Kk(wα) = k−1K

(
wαk

−1
) � R	��	���� 
�� %����� �� ������� 
	 �� 2�
����
9 �	��
���	��  �
� �	�
��
 ��

	�
 ��� ∫

|K(x)| dx <∞,
∫
K(x)dx = 1 � S��
����	���

k �� 
�� ���� ��
�� ������� 
	 �	 
	 9��	 �	� ���
�� ��9� n �	��� 
	 �����
�� ��

nkd

n

�	��� 
	 �����
�� 2�
 Vk
�� 
�� n×n ��
��6  �	�� (j, i) ������
 �� vk (Xj, Xi)

�
��� m̂ (x) = Vk (x) Y �&� ��� ��
����
�� �� 
�� ����
�"� �	����  ����  �  ��
� �� 
���� 	�

E (Y | X = x) = mS (x) = ψ +

d∑

α=1

mα (xα)
,ý/

 ����  � ��
 EXα
{mα(Xα)} =

∫
mα(x)fα(x)dx = 0 ∀α �	� ����
����
�	�� #����

mα
� α = 1, . . . , d

��� 
�� �������� ��
��
 ����
�	�� �	� ���� �������	�� !�����	���
ψ �� � �	��
��
 ����� 
	 
�� ���	���
�	��� �6
��
�
�	� 	� Y � &��
��� m(X) =
mα(Xα) + m−α(X−α)  ���� X−α

�� 
�� "��
	� X 	� ��� �6
����
	�� "��������
 �
�	�
 Xα

� ���� X−α =
(
Xi1, . . . , Xi(α−1), Xi(α+1), . . . , Xid

) �  � ��� ��� 
��
����
����
�	� �	���
�	� �����
�� 
	 ��
���
�mα

� !�� �	 ������ �������� ��
����
�	�
���� �� ����� 	� 
��
 �	� xα

�6  � ��"�

EX
−α

[m (xα, X−α)] =

∫
m (xα, x−α) f−α (x−α)

∏

β 6=α

dxβ = ψ +mα (xα)

)���
�
�
��� �	� m(·) � �	�
�����
��� 
�����
���
	� ���� �� 
�� 	�� ��"�� ��,3/� � ���
�� �"����� �	� 
�� �6
��
�
�	�� ��� �	� ψ ���
�� ψ̂ = 1
n

∑n
i=1 yi

��"��

m̂α(xα) =

n∑

i=1

wαh (xα, Xiα)Yi

 ���� �	� � ���� ��
� h ,
�� 	�� �6��� 
�� ��		
����� 	� 	�� H0
�	���/

wh (xα, Xαi) = Kh (xα −Xiα)
f̂−α (Xi,−α)

f̂ (Xiα, Xi,−α)

,T/

S�������  � ��
 m̂S(Xj) = ψ̂ +
∑d

α=1 m̂α(Xjα)
�	� ���� j = 1, 2, . . . , n � Q	
�
��
 ������� Wh =

∑d
α=1Wαh (xα)  �
� Wαh (xα)

����� 
�� n× n ��
�����  �
�
wαh (Xj , Xi)

�� ������
�� 	�� ��� m̂S (x) = ψ +Wh (x) Y �0� ���
�	��� ���	���  � �	 �	
 ��
�	���� �� 
��
��� 
�	������� ��
 ��
���
�
��� 
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����
 ��H0 : m(·) =
mS(·) "����� H1 : m(·) 6= mS(·)� &� �	������ 
�� �	��	 ��� 
 	 
��
 �
�
��
���'

τ1 =
1

n

n∑

i=1

(m̂ (Xi) − m̂S (Xi))
2 w(Xi)

τ2 =
1

n

n∑

i=1



 1

nkd

n∑

j=1

Kk (Xi −Xj) (Yj − m̂S (Xj))




2

w(Xi)

 ���� êi = Yi − m̂S (Xi)
� ���� 
�� ��������� ����� 
�� ���� ��
	
������ ���

ûi = Yi − m̂ (Xi)
� 
�� ���������  �
�	�
 ���
���
�	��� &� �������� ���	 �  ����
����
�	� w(·)  ���� 
�
������ �� U��
 ���� �	� 
������� �
 
�� �	�������� 	� �����	��  ���� ��
� ��� �
����� Q	
� 
��
 �� 	�� ������
�	� �
���  �  ��� ��%� ���	� 
�� 
������� �
 
�� �	��������� 8�"�	����� τ1 �������
�� �����
�� 
�� ��
����
��������� ��(������ ��
 ��� 
�� ���� ��� ��
����
�"� �	����� 0�
����
�"���� τ2 ���%�
	 ��
���
� 
�� ���� 
�	���� ������
�� ��	� 
�� ��
���
� m̂ �  ���� ��(��� ��	� 
��V����� 	� �������	����
�W� �� 1�

� �
 ��� ,3þþ4/ �
 �� 
�	"�� 
��
� �	� �	
� 
��
�

τj
� 
�� nk d

2 (τj − µj)
�	�"���� ����� 
�� ���� 
	 � �	���� "�������  �
� ���� 9��	��� "�������� v2

j

�	� j = 1, 2  �
�

µ1 = EH0
{τ1} =

1

nkd

∫
σ2(x)w(x)dx

∫
K

2(x)dx + o

(
1

nkd

)

µ2 = EH0
{τ2} =

∫
(K ∗ K)

2
(x) dx

∫
σ2(x)f2(x)w(x) dx

���
v2
1 = V arH0

{τ1} = 2

∫
σ4(x)w2(x)dx

∫
(K ∗ K)

2
(x) dx

v2
2 = V arH0

{τ2} =

∫
σ4(x)f4(x)w2(x) dx

0�� 
��
� ��"� ���� 
�	"�� 
	 �� �	����
��
 �� 
�� ����� 
��
 ����� 
�� ��
�����
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� n 
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�	������ ���
 ��� 
��� ������� 
�� ��
����'
-� &�
� ���� ��
� h � �������
� 
�� ��
���
� m̂S

����� 
�� ���� ��
	
����� 	�����
�"�
� ��� �
� �����
��� ��������� êi
� i = 1, . . . , n �

3� &�
� ���� ��
� k � �������
� 
�� ��
���
	� m̂ �	� 
�� �	���
�	��� �6
��
��
�	�  �
�	�
 
�� ����
�"�
� ���
���
�	�� ��� 
�� �	����
	����� ��������� ûi
�

i = 1, . . . , n �
ý� &�
� 
�� �����
� ��	� �
�
 - ��� 3�  � ��� �������
� 	�� 
��
 �
�
��
��� τ1 ���
τ2
�

T� 5�
��
 �
�
 -  �
� � ���� ��
� hb
� &� ���� 
�� 	�
�	�� m̂b

S
� ���
��
�"���

εi = Yi − m̂b
S(Xi)

� i = 1, . . . , n �
4� 1�� ����	� "�������� e∗i  �
� E[(e∗i )

j ] = uj
i

,���
��
�"��� êj
i

	� εji � ��� ���������	� ���	 / �	� j = 1, 2, 3
,���
��
�"��� j = 1, 2 � ��� ���	 �����/� )�


Y ∗
i = m̂b

S(Xi) + e∗i
� i = 1, . . . , n � ���� ������
�  ��� �		
�
��
 ���
���� 5��
��
 
��� B 
����� !��� ������ B ��(����
 �		
�
��
 ���
��� {(Xi, Y

∗,b
i )}n

i=1
�

b = 1, . . . , B �
[� S	� ���� �		
�
��
 ���
�� ��	� �
�
� T ��� 4� �������
� 
�� 
��
 �
�
��
��� τ∗,b

j
�

j = 1, 2 � b = 1, . . . , B � !���� �	� ���� 
��
 �
�
��
�� τj � j = 1, 2 � 
�� ���
����"���� �� �

�	6���
�� �� 
�� �	����
	����� ����
���� 	� 
�� ���
����
�	� 	� 
��
B
�		
�
��
 ����	����' F ∗(u) = 1

B

∑B
b=1 I{τ

∗,b
j ≤ u} � 5����� 
��
 
��� ���������
�� ����� 
�� ���� ��
	
������

�� �
�
 3� 
�� ���� ��
� k ��� ���
�� 
	 	��� 
�� ��(����
 �����

�	�� ��������� �	� ���� �
����� 
��
� �
 ��� �� ��	��� �� ���� �  �� 
��
 �
 ��6���9�� 
��

	 �� 	� 
�� 
��
 �	� � ��"�� ��9�� !�����	��� ��(����
 ��	� 1�

� �
 ��� ,3þþ4/
 � �

�� 
�� ���

�"� 
��
��� �

�	��� ��
�	����� �� )
	%	��� ,-..�� -..[/� #�
�	������� �����
���	���� � ������ 	� 
��
� {

τk, k ∈ K
} �  ����

K = {k1, k2, . . . , kP }�� � ���
� ��
 	� ����	����� ���� ��
��� !�� 
��	��
���� ��6���� ������ P ���
���� 	� n � ��
 �� 	� �	 
���
���� ����"����� S	� ��
����� ��� #	�	 �
9 * )
	%	���,3þþ-/� !��� �����
τmax = max

k∈K

τk − E0[τ
k]

V ar1/2[τk]

 ���� E0[·] ������
�� 
�� �6
��
�
�	� ����� H0
� 0 
��
�������
� 	� 
�� �����
��������	���� 	� τmax �� 
��
 	�� ���
 ����� 
	 �������
� 
�� �����
���� �
�
��
���

(τk)∗,b �	� ��� k ∈ K

	 ��
�� ���� ��
 (τmax)∗,b � Q	
� 
��
 �	� ���� k � 
�� ��
�������	���
� 	� 
�� �����
���� �
�
��
��� (τk)∗,b ��� �� ���� �� � ����
�
�
� �	� E0[τ

k] ����
��
�"��� V ar1/2[τk] � �� 
���
������ �
�
 4� 
��  ��� �		
�
��
 ,��� #����� * +����� -..ý/ �
 �� ��
 	
��  ����
��������� ��	��� �� 
�%�� ûi

� êi
	� εi � &���� 
��	�� ���� ������� 
��
 
�� ���
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ý-3 ����� ±%���� ����¢%�Å ¡ ����% �#������


	 �� ��� �� �������  ��� 
�%��� 
�� ��������� 	� 
�� ��
����
�"�� ���� ûi
� 	��

������
�	�� ,�	
 ��	 �/ �	���� 
�� ������� 	� 1�

� �
 ��� ,3þþ4/ 
��
 �� 
���
���
εi
��	��� �� 
�%��� Q�6
� �
 �� 	�
�� ��7����
 ��  � ���	 �	� ��
��	������
���
� 	��� ��%�	 � �	�� ����� e∗i = εiεi

�  ���� 
�� εi
��� ������� ��� � ��
��� ��	� 
���	�������
 ���
����
�	�� ����

εi =

{
−(

√
5 + 1)/2  �
� 
�	������
� p = (

√
5 + 1)/(2

√
5)

(
√

5 + 1)/2  �
� 
�	������
� 1 − p

	� ��	� 
�� \������� �	���� N(0, 1)� !��� ��� ��� 
�� ����
�	� �
 
	 	���� 
���	���
 	� 
�� �		
�
��
 ���	�� ��"� 
	 �	������  �
� 
�� �������� �	���
�� ��
�� ������
�	� ���
�	��  �  ��� �	�
��� �	�������
  �
� \������� �		
�
��
��� �
�
 T� ���� ��
� hb
��� 
	 �� ��	��� ��	�� 
�� �������
� 	� #����� *

+���	� ,-..þ� -..-/' S	� 
�� ���� 	� m̂h(x) −m(x) ����� 
�� �	���
�	��� ����
����
�	� 	� Y1, . . . , Yn | X1, . . . , Xn
� ���
��
�"��� 	� m̂∗

h(x) − m̂hb
(x) ����� 
���	���
�	��� ���
����
�	� 	� Y ∗

1 , . . . , Y
∗
n | X1, . . . , Xn

� �
 ��  ��� %�	 � 
��


EY |X(m̂h(x) −m(x)) ≈ h2µ(K)

2
m′′(x)

,4/

E∗(m̂∗
h(x) − m̂h(x)) ≈ h2µ(K)

2
m̂′′

hb
(x)

,[/
 ���� µ(K) =

∫
u2K(u)du � 8�"�	�����  � ���� 
��
 m̂′′

hb
(x) −m′′(x) → 0 � !��	

���� ���� ��
� hb

�	� ��
���
��� 
�� ���	�� ����"�
�"� ���
 
	 �� ������ ,��
��
��/ 
��� ���� ��
� h �	� ��
���
��� 
�� ����
�	� �
����� &� ��� �"�� ��"� 
��	

���� ��
�� S	� �6��
��� 
�� 	

���� ��
� 
	 ��
���
� m′′

S
�� 	� 
�� 	���� n−1/9,���
��� 	� n−1/5

/� �� 	����"�
�	�  � ��%� ��� 	� �� 	�� ������
�	� �
������ !����
�
  ��� �� ���� 
��
 
�� 
�
���� �	����
 hb ]^_ `a bc adce_faa`]ghi� �� �����
��� ��
���
���� ��
��
�"���� 	�� ��� 
���% 
��
 � 
�	
�� ��	��� �	� hb

��
���� �
�	����	�
h � !��� ����
 �� 
��� ������������ �		%��� �
 ����
�	�� ,4/ ��� ,[/ �� 
������

	
��� 
�� Vh��(��
W ����� 
	 ������ 	�
 �� �	�� �� h/hb

�	�� 
	 9��	 ,���������� �	���
�	� �	� 
�� �	����
���� 	� �		
�
��
 ��������� ����/ �	� n �	���
	 �����
�� 0� 	��  ��
� ����%  ��
��� 
�� ���
 
	������ ����
�"� �	��� �� ��������
� �
� 	�� 
�����	�� ��� �	����
��
� 	� 
�	�� ���� ��
� �����
	�� �	� h ���� ��� 
	 	

���9� m̂S
��%� ��	�� "�����
�	� 	� �	�� 
������ ��
�	�� �	�

0�
�� ���� �
 ����
 �� ��
����
��� 
	 ���	 ��"� � �		% �
 ������
���� �� ����
����
�"� 
	 �		
�
��

��� ,��� j	��
��� 5	���	 * &	�� -.../� Q������� *
)
������ ,3þþ[/ ��
�	���� ������
���� �� � �����
�� �	�
�6
� 	
��� 
��� 
��
  �
������� ����� ������� 
���� 
�� �		
�
��
 ������� !���� �6��
� �� ��
	��
�� ��	���	� 
�� ������
� ������
�� ��9� m � 0�  � ���	����� 
��� ��
�	� 
	 ���"� �� �
�	������ �	� ������ hb

�  � ��
�	���� ������
���� ��� 
�� ��
	��
�� ��	��� 	�
�� ������
�� ��9� m �� �	�� ��
���'
2�
 Y = {(Xi, Yi) | i = 1, . . . , n} �� 
�� 	������� ���
��� ��� ���	
�� �� τ (Y)
�� 	������� �
�
��
�� �������
�� ��	� 
��� ���
��� ���"��� ����� ����6 j = 1, 2, 3

�	�� �	���
� !	 ��
������ 
�� ���
���� "�����  � ���� 
	 �

�	6���
�
Q (z) = P

(
n
√
kdτ (Y) ≤ z

) ,ÿ/
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DEF G¸HF IÀ½¼¹FJ ½K L½½¾¿¾ÀÁÂ DF¿¾¿ ·EFM ¾EF NO¹¹ ¸¿ N½M» ½À GFJ¸ÂÁÀÁJF¾À¸P ý-ý

5����� 
��
 ����� H0

��� ���
����
�	� �	�"����� 
	 �� N(µj , v

2
j )� �	� µj

���
vj
� j = 1, 2 � ��� ��	"�� S	� ���
� ���
�� ��9� n � ��� ��� B ������
��� Yb

�����	� ��9� m�  � ��� �

�	6���
� Q ����� H0
��

Q̂ (z) =
1

B

B∑

b=1

I

(
m

√
kd

mτ
km (Ym) ≤ z

) ,�/

Q	
� 
��
 
�� � % ��� �	
�
�	� �	��� ��	�  � ��"� 
	 ��U��
 ��� ���� ��
���	� 
�� �� ���
�� ��9�m � S	� �6��
��� ������� k = k0 ·n−δ �	� k0
����� �	��
��
�

!���� τkm
�� �������
�� ��%� τ ��
  �
� ���� ��
� km = k0n

δm−δ �
R��
������ ����� 
�� ��
����
�"�H1

� �	
� n√kdτ (Y)
���m√

kd
mτ

km (Ym) �	��"���� 
	 �����
�� &��� ���������m/n→ 0
������
��� 
��
 n√kdτ (Y) �	�"�����,����/ ���
�� 
	 �����
� 
��� 
�� ������
�� ����	����� !���� Q̂ �������
���
��
�� ����
���� 	� Q �  ���� ������ 
�� ��U��
�	� 	� H0

�
!�� 	

���� m �� ��
����� � ����
�	� 	� 
�� ��"�� α� 0����� 	�� �

���� ������
���� ��
�	��' 1�� �	�� 
����	 ��������� Y∗,l � l = 1, . . . , L

	� Y 	� ��9� n  �
�
�� ���� ���
����
�	� �� Y � S	� 
�� ������� ��"�� α� 
��
 H∗
0 : m(x) −mS(x) =

m̂(x)− m̂S(x)

�� ����  �� �� �	�  ��
 
	 
��
 H0 : m(x) = mS(x)� ���� �

������	�� 
��
������ 
��
 �
�
��
�� 
	 H∗

0
��� ����� ������
����� S�	� 
�� L ��
�
�
�	���	� ��� ��
������ 
�� ��
������ ��U��
�	� ��"�� ,��
���
�� ��9�/ �	� �	�� ��"�� α�Q	 � ��� �� m ���� 
��
 
��� ��
������ ��U��
�	� ��"�� �� ≈ α� �� 
���
���� �	���		�� ��	� � ���� 	� 
	������ m 
�� 	��  �	�� ��
���
�� ��U��
�	� ��"�� �	� H∗

0�� ��	���
 
	 α ��	� ���	 � Q	
� 
��
 H∗
0
�� �� ��� 
��� �
 
	 �� ��
���
�	� ���	�
��
 ��	��� �� ���	�
 
�� ���� �� �� �	�� 	������� 
��
� !�� 	��� ��� ���% 	� 
���


�	������ �� 
�� ��	��	�� �	�
�
�
�	��� �(	�
� S	� ���
��� ��
���� ��� �6��
����
��� j	��
�� �
 ��� ,-.../ 	� 1�����	� 5	��k���9 * &	�� ,3þþ-/�

l� *+2<175+/: .)6<156

&� ��"� ���� 	��� � ������� 	� 	�� ����� ������
�	� �
���� !�� �	��� �	��������� �� �� �	��	 �' 0� �� 1�

� �
 ��� ,3þþ4/�  � ��� n = 100 ������ X ∈ IR3 �
�

Xi ∼ N(0,ΣX)  �
� ΣX =




1 0.2 0.4

0.2 1 0.6

0.4 0.6 1






	 ������
�
Yi = X1,i +X2

2,i + 2 sin(πX3,i) + vX2,iX3,i + ei, i = 1, . . . , n

 �
� ������ �
������ �	���� ���	�� ei
� v = 0

����� �� ����
�"� ��
������ �	���� 	�
v = 2

�	� �� ��
����
�"��
�� �	
� 
��
� �
�
��
���  � ��� 
��  ����
��� ����
�	� w(·) �	� � 
	������ 
��������' &� ��
 
�� 	�
�� 5%

	� �	
���� (0%)
	� 
�� ���
���  ���� V	�
��m ������
	 
�� 
���� 	� 
�� �6
����
	�� "��������� !��� �� �	�� 
	 ��
 ��� 	� 
�� �	������
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ý-T ����� ±%���� ����¢%�Å ¡ ����% �#������

�(��
� �� 
�� �
�
��
���� !	 �
��� �
 	�� ������
�	� �
������ 
�� 
�����
�� �����
���� �������
�� ��	� 34þ ��
����
�	�� ����� 	��� 3þþ �		
�
��
 ���
��� ,	� �������
��� ���
��
�"���/� &� ���� 
�� ���
�
����
�"� ����
�� %����� 
��	���	�
 ��
 �	
�
��
  � %�	 ��	� 	�� ������
�	�� �� 1�

� �
 ��� ,3þþ4/ ��  ��� �� ��	� 
����
����� ������
�	� �6
�������� �	� 
�� �
����� �� Z������
	� ,3þþÿ/� 
��
 
�� �����
�
������ ������ �	� ������ �		
�
��
 ���
����

&� ���
 �		%�� �	� �� �"����� ��	�� "�����
�	� ���� ��
� h �  ���� 
�����	�
 
	 �� hopt = 0.78
�	� 
�� �����
�	� 	� ��
����
� ��� 6hopt

�	� 
�� ��������
�����
�	��� ��� 1�

� �
 ��� ,3þþ4/� !���  �� �	�� �	
 	��� �	� �	�
�
�
�	���
����	�� ��
 ���	 ������� 	
��� ��� 
�� ��9� 	� 
�� 
��
�  	��� ���	 ��
��� 	� 
��
����	����� ������� �� 
�� ��
���
�	� 	� h � S	� 
�� k����

�"� 
��
 
�	�������
k ��� 	"�� �� �����
���� ���� 	� 10

���� ��
�� ��	� kmin = 0.1 · range(X1)

	

kmax = range(X1)
�

&�  ��� �
��� �	 
�� �����
� �	� ��"���� ��	���� 	� hb
 �
� ��(����
 �		
�
��
������
��� ��
�	��� ���� �	�������
 "�� \������� �		
�
��
 ���	��� !	 ��"� hb

��� ����
�	� 	� h � 
	 
�%� ���	 ��
	 ���	��
 h/hb → 0 � ��� "�����
� 
�� ��
� n−1/9,�	
�"�
�� ��	"�/  � ��
 hb = hn1/5−1/κ ��� 
�� ��(����
 κ ≤ 9 �!���� - ��	 � 
�� �����
� �	� 
�� k����

�"� �		
�
��
 
��
�� &� �	�
���
�� ��9� ��� 
	 �� �	� ��(����
 hb
� �	�������
 "� \������� �		
�
��
� 
��������	������ �(��
� "� �	 
�������� ��� ������ ���	 � ��
 τ1 "� τ2 ,
�	��� 
�� ��

���� �	
 
�� ��� 	� 
��� 
�
��/�

S���
� 
�� �����
� ��������� ��	 
��
 
�� ��9� 
�	���� �� �	
 �	�"�� ���
�� ��
��(����
 ��		
���� �� 
�� 
�����
���
�	�� 8"����		
����� �� �	�
���
 
	 
�� 
���	��
���� �������� ����� 
	 �	 �� 
��  �	�� �����
�	�� �
 ����
 �	� τ1 � �� 
��
�������
�� �	
� 
��
 
�� ����� 	� #����� * +���	� ,-..þ� -..-/ ,��� ����
�	�� ,4/ ���,[// ����
 ��"� �� � ���
 	� �"�� 
�	"��� � ���� 	� 
���� �	� 
�� ��	��� 	� hb

���	
 �	������ �����
)��	��� �	��	 ��� 
	 �	�� �6
��
 
�� ������� 	� ,1�����	 �
 ��� 3þþ-/�  ���� � ����� ��
�	"����
 �	� 
�� \������� �	�
���� 
	 
�� �	�������
 �		
�
��
�0�
������  ��� ����� 
�� �	�������
 ��
�	�� 
��� τ1 �	�� �	
 �	�� 
�� ��9� �	���"���� hb

,
κ ���
��
�"���/� n"��  	���� �
 ��U��
� �	�� 	�
�� ����� H0


��� �

�	�� ����� H1

� !��� 
���	���	� �� �	
 	����"�� �	� 
�� ���
��� \�������  ����		
�
��
�
!����� �	������ �(��
� ���� �	
 
	 �� 
�� ����	� 	� 	�� ��9� ��� 
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�� �	��
���
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)
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DEF G¸HF IÀ½¼¹FJ ½K L½½¾¿¾ÀÁÂ DF¿¾¿ ·EFM ¾EF NO¹¹ ¸¿ N½M» ½À GFJ¸ÂÁÀÁJF¾À¸P ý-4

opqrs tu v�Ç����� ������ �� ��� ��� k�%�%#���� ���� ��%������� ���� % � ������� ������� �" È�����%� �%���� %�� ������� �� ���� ����� ���� ���#�������� w%����% ���� �������%#� ��� � hb = hn1/5−1/κ ��� ��� #��������%��� "
\	���� R�
 \������� 5��������

H0 (v = 0) H1 (v = 2) H0 (v = 0) H1 (v = 2)!��� α% κ τ1 τ2 τ1 τ2 τ1 τ2 τ1 τ2
0%

4 T �þþþ �þ3T �þ-[ �ý[T �þþþ �þ3T �þþT �TTþ4 �þ-3 �þ3þ �þ-[ �ýý3 �þþ� �þ3T �þ3þ �ý�þ[ �þ4[ �þ3þ �þ3� �ýTT �þ4[ �þ3þ �-þþ �ýÿ[
ÿ �-ý[ �þ3T �þTT �ýý3 �-3T �þ3� �-[� �ý[�� �-.[ �þ-[ �þÿ3 �ý[þ �-ÿ3 �þ3þ �3TT �ý�T. �3TT �þ-[ �þ�� �ý�� �3-[ �þ-[ �ý3þ �ý.[-þ T �þþþ �þ[� �þ[T �4ÿ3 �þ-3 �þ�� �þ[� �[ÿ34 �þ3T �þ43 �þ[� �T[T �þ3T �þ[þ �þÿ[ �4þ�[ �-þþ �þT� �þ�T �TTþ �þý3 �þý[ �þÿ[ �T.3
ÿ �-�� �þTþ �þ.3 �T43 �þý[ �þý[ �þ.[ �T[T� �343 �þTþ �-þT �T[� �þ4[ �þý[ �-þ� �T��. �ýþ� �þTþ �-3T �Tÿ[ �þ[� �þý[ �-ý3 �4þ�

5%
4 T �þþT �þ3T �þ[þ �ý43 �þþT �þ3þ �þþ� �T3þ4 �þ3T �þ3þ �þT� �ý3T �þ3� �þ3þ �þTþ �ýT�[ �--3 �þ-[ �þ[� �ýý[ �þ.[ �þ3þ �-TT �ý[þ

ÿ �-�þ �þ-[ �-þþ �ý-[ �-[T �þ3þ �3ý[ �ýT�� �3ÿ[ �þ-3 �-ý3 �ýT� �3-[ �þ-[ �ý3� �ý[þ. �ý[þ �þ-3 �-43 �ýÿ3 �3.3 �þ-[ �Tý[ �ý��-þ T �þ-[ �þÿ3 �-þ� �4[� �þ[T �þ�� �-3þ �[[T4 �þý[ �þT� �-þþ �T[þ �þ43 �þ43 �-þ� �4þþ[ �-[T �þTT �--[ �T3� �þ[� �þý[ �-þT �T[þ
ÿ �34[ �þý[ �-TT �TT� �þ.3 �þý[ �-TT �T[þ� �ý4[ �þý[ �-�T �T[þ �-3þ �þý3 �-ÿ[ �T�T. �Tý3 �þý[ �33� �Tÿ[ �-3� �þTþ �33T �4þT
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��
� k−���
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���� � �	�����9�
�	� �� 
����
���
�� "�������� �� 
�� ���	�
���
� ��
��
�	�  ���� 
�� "������� ��
���
�	� ����

��� ������� 
�� 
	 �� 	� 
�� 
��
 ���������� Z	
� �(��
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��� ���� ���� 
	
�� �	��
�����
��
�"� 
���	������ 	� τ1 ��� 
�� ���
 ���
�	�  � ��
�	����� ������
���� �� �� ��
����
�"� �����
����
��
�	� 
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�
��
� !�����	���  � ���	 
�	"��� � ������
�	� �
���  ���� 
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���
���� "����� ��� �
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����� 
����� ��"���� ������
�� ��9��
m � 5����� 
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�� ��(����
 ������
�� ��9�� ��"� � ������� �(��
 ���� ��%� �
 ���
�� ��	��� 	� hb
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�
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��
�� !�� �����
� ��� ��"�� �� !���� 3 �	� k����

�"�
��
�� S	� τ1  � ��� ���� ��������� 
�� ���� ��� ����"�	�  � 	����"��  ��� ������	�������
 �		
�
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ý-[ ����� ±%���� ����¢%�Å ¡ ����% �#������

opqrs xu v�Ç����� ������ �� ��� ��� k�%�%#���� ���� ��%������� ���� % � ������� ������� �" È�����%� �%���� %�� ������� �� ���� ����%�#�� �� ��� � ����%�#��� ����Æ��
m "

H0 (v = 0) H1 (v = 2)!��� α% m τ1 τ2 τ1 τ2
0%

4 �þ �þþþ �þþþ �þþþ �þþþ
ÿþ �þþþ �þþþ �þþþ �þþþ[þ �þ4[ �þþþ �þ3þ �þý[4þ �3ÿ[ �þ3þ �þÿ[ �3.3Tþ �4-[ �3-3 �-[� �ÿý3-þ �þ �þþþ �þþþ �þþþ �þþþ
ÿþ �þ3þ �þþþ �þ-[ �þþþ[þ �3ÿ3 �þþ� �þÿ3 �-TT4þ �4�T �-þT �34[ �[TTTþ ��-[ �Tÿ[ �T�þ �.-3

5%
4 �þ �þþþ �þþþ �þþþ �þþþ

ÿþ �þþþ �þþþ �þþþ �þþþ[þ �þ-[ �þþþ �þþþ �þý34þ �þ[þ �þ3þ �þ-3 �3ÿ[Tþ �-43 �3-[ �þ3T �ÿ-3-þ �þ �þþþ �þþþ �þþþ �þþþ
ÿþ �þþT �þþþ �þþþ �þþþ[þ �þ[þ �þþ� �þ-[ �-[T4þ �3þþ �þ.3 �þ3T �[ý[Tþ �ý�þ �T[þ �-3þ �.þ�
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��
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!��� ��� �� �	�� �� �	��	 �� ��������� ���� �� ��
��� �	� τ2 � !	 ��%� �	
��
�	� ��� �������
�	� �������  � �	������ 
�� �	��%����

�"� "����	� ��
 �6 k =

range(X1)/2
� 2�
 �	 {Y ∗

i , x
∗
i }n

i=1 := Y∗ �� � ������ 	� 
�� 
����	 ����������
�	����� ��	"�� !���� �	� 
��
��� H∗
0 : m(x) − mS(x) = m̂(x) − m̂S(x)  �
�
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DEF G¸HF IÀ½¼¹FJ ½K L½½¾¿¾ÀÁÂ DF¿¾¿ ·EFM ¾EF NO¹¹ ¸¿ N½M» ½À GFJ¸ÂÁÀÁJF¾À¸P ý-ÿ

���
�� Y∗ � �� ����	��� 
	 τ2  	��� ��

τ ]
2 =

1

n

n∑

i=1

[
1

nkd

n∑

j=1

Kh(X∗
i −X∗

j )
{
Y ∗

j − m̂S(X∗
j )

}

− Kh(X∗
i −Xj) {Yj − m̂S(Xj)}

]2

w(X∗
i )

,./

8
��� �
�
��
��� ��� 
���%���� ���
������ ����

1

n

n∑

i=1

[
1

nkd

n∑

j=1

Kh(Xi −X∗
j ){Y ∗

j − m̂S(X∗
j )}

− Kh(Xi −Xj){Yj − m̂S(Xj)}
]2

w(Xi)
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opqrs |u v�Ç����� ������ �� τ2

% �
τ ]
2

��� α = 5%
� ���� % � ������� ������ �� ��� �w%����% �������%# ����

hb = hn1/5−1/κ ��� ��� #��������%��� � % � k =
range(X1)/2

"
κ!��� - 3 ý T 4 [ ÿ

H0 0% τ ]
2

�þ-3 �þ[ý �þ3� �þýþ �þý3 �þý- �þ3.
(v = 0) τ2

�[�þ �ý.3 �þý3 �þ-3 �þ-3 �þ-3 �þ-[
5% τ ]

2
�þ-3 �þ[3 �þ3� �þýþ �þý3 �þý- �þ3.

τ2
�[ÿ[ �ý�þ �þ3T �þ-3 �þ-3 �þ-3 �þ3þ

H1 0% τ ]
2

�þþ- �þ-. �þT3 �þ33 �þ-4 �þ-- �þþ.
(v = 2) τ2

�.ÿ3 �.ý3 �[ý3 �ý�þ �3ÿ3 �3[þ �3[T
5% τ ]

2
�þþ- �þ-. �þT3 �þ3ý �þ-4 �þ-- �þ-þ
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